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( )1. What is the formal charge on oxygen in the following structure?(5 7})

HsC—O—CHs
CH,

A) +2
B) +1
C) 0
D) -1
E) -2

( )2. Which compound would you expect to have the lowest boiling point? (5 7J)

NH,
A)/\/

NH>,



E)

NH>

( )3. Which compound would have the lowest boiling point? (5 7J)

A)

OH

IV

I B) I C) II

( )4. The structures(5 77)

D) IV E) V

represent:

A)
B)
C)
D)
E)

a single compound.
enantiomers.

meso forms.
diastercomers.

conformational isomers.



( )5. A correct IUPAC name for the following compound is: (5 77)

OH (I
A) 4-propyl-5-chloro-3-heptanol
B) 4-propyl-3-chloro-5-heptanol
C) 4-(1-chloropropyl)-3-heptanol
D) 5-chloro-4-propyl-3-heptanol
E) 3-hydroxy-4-propyl-5-chloroheptane

( )6. What structure represents the most stable conformation of

cis-1,3-dimethylcyclohexane? (5 77)

CHs H CH
y H CHy [
Hscw CH H
b HsC H
1 11 11T
H H
CHj CHs
HsC HsC
H H
I\Y \Y
A) 1
B) II
C) I
D) IV

E) V



( )7. Which of the following is the enantiomer of the following substance? (577 )

H
H\\yk
Br¥ CHs
H CHj CH,
Br\\yk )“’/IBr )%”/H
HY  CHs  H ¥y H Vg
I IT [II
A) 1
B) II
C) III

D) It does not have a non-superposable enantiomer.
E) Both Il and III

( )8.What would you expect to be the chief organic product(s) when tert-butyl

bromide reacts with sodium acetylide, i.e., (5 77)

Br — +
+ HC=C: Na — ?
Z
)(/ )\///

I I I

(- vomor)

IV

A)
B) 1II
C) I
D) 1V
E) None of these



( )9. What would be the major product of the following reaction? (5 77)

A)

B)

C)

D)

E)

A)

B)

C)

D)

\ CH,Cl  OH~
N —
H

CHs S\2

HC H H "CH;
I II
/\<\CH2CI /\\:(\CHZCI
S N
HO'  "CH, H "OH
I v
I
II
I
v
An equimolar mixture of [ and II

. Select the structure of 4—ethyl-2,3-dimethyl-2-heptene. (5 7J)



§

E)

)11. Which compound would be the major product? (5 77)

Br (CH5);COK
'

(CH;);COH
heat

?

A)

B)

C)

D)

BIRER,

E)



( )12. Which alkene would you expect to be the major product of the following

dehydration? (5 77)

H,SO,
_— e 7
heat

OH

S el

I II 111

Al e

v \Y%
A) 1
B) 1I
C) I
D) 1V
E)y V
13. What product would you expect from the reaction of HCI with

1-ethylcyclopentene? (6 77)

CH,CH,
7 v —

14.What products would you expect to obtain from the reaction of benzene with
the following reagents? (6 77)

(a) (CH:);CCl, AICIs (b) CH;CH,COCI, AICl;



15.Synthesize m-chloronitrobenzene starting from benzene. (7 77)

NO,

Cl

m-Chloronitrobenzene

16.What products would you expect from reaction of

1-chloro-1-methylcyclohexane with KOH in ethanol? (7 7})

17.Predict the products you would expect from the following reactions. Indicate

the major product in each case. (7 77)

(a) Hy,C OH (b) (l)H
CH30H(|JCH20H3 50 CH3CH20H2(|]CH3 B0
CH, CH,

18.Show the products obtained from addition of CH;MgBr to the following

compounds: (7 77)



